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e A H
T I 7 A
S T — 1T H 802 1,652 817 835
$5h) T —TH 554 1,296 634 662
$5h) T —=TH 758 1,617 833 784
3k  /hE * % 2,114 4,565 2,284 2,281
Z=oalil — 1 H 1,250 2,520 1,215 1,305
Z=oalil NE 1,229 2,273 1,106 1,167
Z=oalil —=TH 1,337 2,659 1,300 1,359
=il uTH 844 1,958 974 984
* %k /phE * % 4,660 9,410 4,595 4,815
E=IREe — 1 H 1,009 1,980 956 1,024
E=IREe —TH 1,003 2,137 1,010 1,127
E=IREe =TH 1,761 3,039 1,438 1,601
=Rk L E 1,122 1,767 850 917
* %k /phE * % 4,895 8,923 4,254 4,669
B — 1T H 1,002 2,014 999 1,015
)1 —TH 703 1,668 837 831
)1 =TH 1,213 2,630 1,290 1,340
)1 L E 927 1,983 983 1,000
* %k /phE * % 3,845 8,295 4,109 4,186
PHET)I — 71 H 889 1,815 889 926
PRET)I| —TH 729 1,633 767 866
PRET)I| —=TH 380 822 382 440
PRET)I| T H 1,420 2,944 1,469 1,475
* % /pNEF % % 3,418 7,214 3,507 3,707
* k 2REE* % 43,210 83,176 40,239 42,937
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I T | Bk 7 z
FR AR —TH 3,078 6,313 2,942 3,371
FRAHT  — T H 727 1,501 742 759
FRAHT =T H 1,209 2,637 1,283 1,354
FOiRART PUTH 2,053 3,372 1,449 1,923
*k  hEE kk 7,087 13,823 6,416 7,407
o IR — 1 H 1,151 2,053 1,003 1,050
o AR —TH 990 1,967 1,007 960
o IR —=TH 1,470 2,844 1,404 1,440
o AR T A 686 1,428 703 725
o AR LT H 1,894 3,694 1,858 1,836
*k  hEE kk 6,191 11,986 5,975 6,011
VG iR —T1H 784 1,116 558 558
VG iR —TH 481 901 397 504
*k  hEE kk 1,265 2,017 955 1,062
TR — 1 H 730 1,179 558 621
TR —TH 751 1,459 712 747
TR =TH 534 831 405 426
*k  hEE kk 2,015 3,469 1,675 1,794
HUFIIR — 1 H 2,070 3,149 1,428 1,721
HUFIIR —TH 861 1,393 631 762
HUFIIR —~TH 967 1,677 791 886
HUFIIR T H 411 609 300 309
TS 4,309 6,828 3,150 3,678
5 — T H 597 1,077 543 534
5 —TH 753 1,574 801 773
5 =TH 1,436 2,730 1,342 1,388
Y5 mTH 645 1,265 633 632
TS 3,431 6,646 3,319 3,327




